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-2
spot. The slits are 2.0 mm apart and the screen is 2.0 m from the slits. What is the wavelength of the light in m? 3‘31’;1;4

e 16x107°*

0. Suppose two flat glass plates 30 cm long are in contact along one end and separated by a human hairatthe 3 159
other end. If the diameter of the hair is 50 gm, find the separation of the interference fringes in mm whenthe b, 1.61

plates are illuminated by green light, 4 =546 nm. n:d 113
e. 1.66
o _ - - - 2369
®. A single slit of width 1.00 mm is illuminated with light of 600 x10™® m wavelength. At what angle ¢ in b. 0.564
degrees does the first dark fringe appear? c. 6.87
d. 424
i e. 505x107

@ A diffraction grating has 5000 lines/cm. What angle # is associated with the first fringe of a 640 nm source? _a._z_ﬁE_x 10~ rad
' b. 1.866 x 107 rad
c. 2243

d.18.7
e 15.21°

@ An energy of 13.6 eV is needed to ionize an electron from the ground state of a hydrogen atom. What e

wavelength in nm is needed if a photon accomplishes this task? (h=6.626 <10 ™ ]-s; c =3.00x<10*m / 5) :?3

4%
7y — e.40

- What is the maximum v%t}r in kmy/s of a photoelectron emitted from a surface whose work functionis i :‘ g
eV when the surface is illuminated by radiation of 200 nm wavelength? c. 00
(h=6.626x10] s; c=3.00x10°m/s; e=1.60x107C) d.550

- T — 5 — e. 1480
@"}he light intensity incident on a metallic surface with a work function of 3 eV produces photoelectrons ;’ 1
‘with a maximum kinetic energy of 2 eV. The frequency of the light is doubled. The maximum kinetic energy Jz
— __ d4
T o : ) a. —-1.67. e7.
When the principle quantum number is 2, the energy of the state of the hydrogen atomineVis 545
c. 2.30.
— d. 1.65.
@ z : ——— e. 1.36.
-.‘Huw many possible orbital states are there for the n = 3 level of hydrogen?
a.
b.9
c.12
d. 16
e. 25
@ . The permitted values of m, for n =3 are
a.-1,0,1.
b.2,1,0
c2,1,0-1,-2
d. 0.

e3,210-1,-2,-3

@ . The energy in eV needed to remove an electron from the first excited state of a Li2* ion (Z=3) is
a. M4
b. 30.6.
c. 91.8.
d 1224
e 102

. When the ¢ quantum number remains constant but the principal quantum number may have any value n,
the maximum number of electrons in the subshell is

a. equal to 2(2£+1).
b. equal to n.

c. equal to n®.

d. equal to n(2¢+1).
e. equal to 2n(2¢+1).
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